Υποχρεωτική  εργασία:

1. 


Mε βάση την επέκταση του κανόνα να υπολογισθεί το ασαφές σύνολο εξόδου.

2. Ποιες αξιωματικές αρχές ικανοποιούνται στην κλασσική λογική αλλά όχι στην ασαφή?
3. Η αντιμεταθετική ιδιότητα ισχύει στις τομές?
4. Να προσδιοριστεί η συνάρτηση συμμετοχής για το κατάλληλο ύψος πίεσης στους κόμβους σε διώροφα.
5. Σε ένα πολυκριτηριακό πρόβλημα της ΔΥΠ διαμορφώθηκε ο παρακάτω πίνακας πληρωμών:
	εναλλακτική
	Cr.1 (κόστος/κυβικό)
	Cr.2
(περιβαλλοντικό)
	Cr.3
(αξιοποίησης ΥΠ)

	1
	0.2
	0,8
	0,7

	2
	0,8
	0,2
	0,6

	3
	0,2
	0,4
	0,2



Χρησιμοποιώντας τη min τομή και το μέγιστο αποσαφοποιητή να επιλέξετε την εναλλακτική με αυτή τη μέθοδο και να σχολιάσετε τα αποτελέσματα.
6.    Έστω ποταμός που συμβάλουν δύο κλάδοι με παροχή περίπου 5 m3/s και περίπου 15 m3/s.
. [image: ] [image: ]
· Να προσδιορισθόύν οι α-τομές
· Να προσδιορισθεί η α-τομης της πρόσθεσης 
· Να προσδιοριστεί η συνάρτηση συμμετοχής της παραχής κατάντη της συμβολής.

7. Ο όγκος βροχής είναι περίπου 17 106 m3/year η οποία καταλήγει σε περίπου 9 106 m3/year επιφανειακή απορροή. Να προσδιορισθούν προσεγγιστικά οι συνολικές απώλειες βροχή;
[image: ]απορροή
βροχή

· Να προσδιορισθόύν οι α-τομές
· Να προσδιορισθεί η α-τομης της αφαίρεσης R-r
· Να προσδιοριστεί η συνάρτηση συμμετοχής των απωλειών βροχής.

8. Αν η ένταση βροχής i, για χρόνο βροχής ίσο με το χρόνο συγκέντρωσης αντοιστηχεί σε 10 mm/sec και ο συντελεστής απορροής είναι c= 0,35 με βάση την ορθολογική μέθοδο να προσδιοριστεί η παρχοή ανά μονάδα επιφανείας.
[image: ]
(Sen, 2010)
9. Να σχεδιαστούν οι ασαφείς αριθμοί περίπου 2 και περίπου 3 (όπως κρίνεται) και να σχεδιαστεί η τομή τους.
10. Να σχεδιαστείς σε η τομή του ασαφούς αριθμού περίπου 2 με το συμπλήρωμά του.
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FIGURE 4.8 Fuzzy number multiplication by a constant.
1
The rainfall intensity fuzzy number can be given as a triangular MF:
< 0 x<8 »
——4 8<x<10
1, (x)= (4.29)
—-—+6 10<x<12
0 xX>12
Because the fuzzy number is multiplied by a constant value, its shape will
remain the same as another triangular MF, as in Figure 4.8. The resulting fuzzy
number as runoff per unit area is:
~
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Example 4.2
Search ‘Reduce Size'

Let two small rivers, R, and R, confluence at point A as shown in Figure 4.4 with
their subjective discharge estimates as follows: “Q;” is “approximately 15 m*/sec”

and “Q," is “approximately 5 m¥/sec.” Find the discharge “Q)" after the confluence [ Export PDF v
point.
In Figure 4.4, at o = 0 level, the confidence intervals (support) of fuzzy =
numbers are “Q,” = 10, 10] and “Q,” = [10, 20]. Triangular numbers are most o= Edit PDF
often encountered in many applications and, in general, fuzzy numbers do
not have triangular shapes, but let us assume that numbers “Q,,” and “Q," are o
represented by triangular MFs. The summation of two fuzzy number discharges [ create POF
will also result in another fuzzy discharge number “Q,” which can be shown
symbolically as: B comment
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To establish the MF of the resulting fuzzy discharge, let us write the fuzzy num-
hars MFs for “0).” and “0).” as
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© To establish the MF of the resulting fuzzy discharge, let us write the fuzzy num-
Nl bers MFs for “Q,” and “Q,” as:

@ 0 x<0

% 0<x<5

Ug, (X)= 4.4)
X 5<x<10

5
0 x>10
N and
0 x<10
%—2 10<x <15
(4.5)

Ho, (X)=
—§+4 15<x<20

0 Xx>20

An a-cut level yields the left and right boundaries of the corresponding confi-
dence interval in each fuzzy number. For instance, the left and right boundaries of
fuzzy number “Q,” at a level are, respectively:
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Example 4.3

The rainfall volume over a catchment area is “about 17 x 10°m?/year,” which gives
rise to “approximately 9 x 10° m*/year” surface runoff. Find the approximate total
loss during the same year in this catchment. The “approximate rainfall” “R” and
“approximate runoff” “r” volumes, respectively, are given again by triangular MFs

as:
0 x<14
X e
3 3
Hg(X)= (4.15)
—1+E 17<x<20
3 3
0 x>20
and
0 x<8
x-8 8<x<9
u,(x)= (4.16)

—x+10 9<x<10
0 x>10

The confidence interval values at o cut-off level for “R” and “r” fuzzy numbers
are “R” = [3a + 14, -3+ 20] and “r” = [er + 8, —a + 10], respectively. Hence, at
the same cut-off level, the confidence interval of the resultant loss “L” fuzzy num-
ber by considering Equation (4.14) becomes “L” = [2a+ 6, =20+ 10]. Accordingly,
the left- and right-hand side boundaries of fuzzy number “L” are, respectively:
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